
Half yeaYy EXa M 
clags - vIL** 

(Q1. choose the CorYect 
A> What did the author 

a) A Oll- top de sk 

opton of the tolloJLng 4 QueSion%? 
Maks- 40 

find in a junk Shop ? 4x1- 4 

a> Jndian Nalional Pauk 
c) Gaalle National Pak 

B) What c's the name ot Auk in Si lanka ? 
6) yala National Pauk 

1857? 

-th 

d) kurnwar singh 

c) What is the name ot leader ot Bihar in MeVolu ation ot 

C) Book& 

d) Sharp National Pak IJ 

a) Tadya Tope b Hazat Mahal c) Rani laxmi Bai 

d) chai [J 

D) on which day did Bipin Babu buy book& ? 
a) Eveny Sunday 6> Evey Monday c) ony day of wee k 

d) Every Satwday 

o2.Read the patsage and answer the question that follow ? 
with 

O1 How year old was Meghna ? 

Thisteen year-old Meghna was Swept away along 
hex Paxents ond Seventy SeVen othex People she Spent 
two days Hoating in the sea, holdirng oh to a wooden doox. 

Ele Ven ime& She Saw eliet helicoptexs oVer head, but 

they did not Ge her. She was boug ht to the shore 6y a 

wave, and was tound walking on the Seashae in a daze. 

My 

Q:2. How Many People were Swept away along with ghna ? 

|a3 How Many ime Meghna Saw the xelet helicoptexs ? 

O4. HowJ Many days Meghna spent oting n the Sea ? 

o-5. what is the Meaning ot woxd teliet " in this Pas&age ? 
a) alq c) 34/do 

5 X2 : lo 

wite a Paagaph on any one ot the tollowing topic&. 
( wotd umit 8o-l00 wods J 

School 

Qiwali 

b) Tors 



Q.4 

5 

You axe Mohid, a sBudent of clabs VII ot Grups School 
You axe sute orn teve wte a application to yowr 

HeadMaster to grant two doys lcave ? 

wite a stoy on omy one of the tollowing ? 

as by 

choo[e the conect option of the tollowing ? 
is vavcs ha cuts Vegetables 

i) Mukesh 

Thixsty 

A liorn and a Mouse 

6) On 

iy The boy lost -
a) he 

as gone 6 went 
to 

|v) I Uke Rarm 
a) but 

cs with 

a) wise b) kin d 6) 

a knite 
ds in 

Jaipwr Vesterday 
c) will go d is gong 

c his d) him 
Money n the bus. 

iv'I Can not be Quick." Said the totoise choose oppo ste of 
undercined woxd 

c> stupi d d) slow 

7 

he is Very intellgent 
c because 

5X1 5 

7 
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